(2110)

B.A./B.Sc. (Regular) DEGREE EXAMINATION, MARCH 2012.
(Examination at the end of Second Year)
Part Il — MATHEMATICS - II (ABSTRACT ALGEBRA AND REAL ANALYSIS)

Time : Three hours Maximum : 100 marks
SECTION A — (6 x 6 = 36 marks)

Answer any SIX questions.

1.  Show that the set @ of all +ve rational numbers forms an abelian group under the

composition defined by ao b = %b Va,be Q.

3% e¥5BAD Sogrg 5w QF, aob= %b Va,b e Q" &3 o SB3aH Sy IOD0DH FHIDHHBO0ER
BoeSod.

2. Prove that the set of all automorphisms of a group ‘G’ forms a group w.r.to composition of
mappings.

G % Jgaotoogsrden o S8 G008 &8 [FRaire Sockng G $HI750 @HBIOED DEIVOBOE.

3. If S, and S, are two ideals of a ring R then prove that S, U S, is an ideal of R if and only if
§c8, (or) S, cS,.

S; 208 Sye0 Sedbo R L Both escsgyavecnd S, U S, af esHIn S, c S, @) S, S, &
DETDoBOE.

4. If flx)=x°+3x° +4x* = 3x + 2 and g(x)=x? +2x -3 are polynomials in z;[x], find g(x) and
r(x) in f(x)= g(x)glx)+ r(x). :

fle) = x° +3x° + 4x” — 3x + 2 2B @D 2,[x] & Boch WS wod, flx)= g(x)g(x)+ r(x)
00ty g(x) 208k r(x) e KRS0

5.  Show that lim4/n =1.

lim%’f_ =1 e HrSod.

6. Show that f:R—>R defined by f(x)=1 if xe@ and f(x)=-1 if xeR-@Q, f is
discontinuous for all Vx € R.

[R5 R e Shary xe@ oovsgpd flx)=1, xeR-Q eondipd flx)=-1 m adod
VxeR & DHDDHBOOBD BIrHok.



If f: [a,b]—) R is such that f is derivable on [a,b] and f'(a), f '(b) have opposite signs then
prove that there exists ¢ € (a,b) such that f'(¢)=0.

f:[a,b]> R sdano [a,b] p weedabo Bk (@), f(b) o 55885 HEe008H f'(c) = 0 exclgeoens

¢ € (a,b) 5553pEmmH0sd dETdoB0E.

If f(x) =x” on [0,1] and P = { 0, i, %,—2—, 1 } , compute L(P,f) and U(P,f).

bl

| =

[0,1] 3 Boawo f# flx)=x" r posD0D Ho8asw P :{ 0, ,%, 1 }eacmé L(P,f) 208050 U(P,f)

bo |+

o Hedodok.

SECTION B — (4 x 16 = 64 marks)
Answer ALL questions.

(a) (i) State and prove the Lagrange’s theorem for finite groups.

$5B20E HhoTeteH Birroe %cgoé:ﬁnéa 55909 DETDOBOE.

(i) If H’is a normal subgroup of G, prove that the set % of all cosets of *H*in“G”

w.r.to. coset multiplication is a group.

G ed 550rasns” CH' ol ePeoon 080T P50 @ond SPPatue Kewo Sy % e

HATPER0 e)TI0ED DTNk,

Or
(b) () If S, is a symmetric group of n—symbols and A, is the group of even integers

then show that ¢4, *is normal in 'S, ' and 0(4,) = %n Y5

S, 28 &vgd BHoriran Ba A, 8grgoste St eawd S, & A, w8 epoon
SrsaTeis esB00dD SoBaky O(A,) = %n! D 577508,

(i) If a cyclic group G’ is generated by an element of order ‘n’ then prove that a™ 1s
a generator of G iff (m,n) =1.

G e 3fah SrTHn n-B8K8 Dretsn Yo WHES, a” ©d8 G O =08 Dresdo

©HB008 <> (m,n) =1 ed dErdobok.
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10.

i3 8

12,

(a)

(b)

(a)

(b)

(a)

@

(i1)

@)

(i1)

(i1)

(1)

(i)

(1)

Prove that every finite integral domain is a field.

(S 58208 Jgro (SEEHN FBED0 @B AEITI0HOG.

If <S’ is a non-empty subset of a ring R, then prove that <S° is a subring of R iff
a-beS and abe S Va,beS.

‘R’ Hedho &° Wﬁé@d H5208 S’ asdecho seHEED8 Biﬁéég 50"5.:")“§ oo a—be S 8ot
abe S Va,be S e 385700508,

Or
Prove that the ring of integers is a principal ideal ring.
TrRose S0aNO [T eEEBabin ©HB0ER ATDB0S.
State and prove the fundamental theorem of homomorphism of rings.

SOOI HHETIT HIreEToT ) [HHD0D DETD0HOG.

State and prove the limit comparision test for the series.

Boommyy SBE Bk, BHGETIYY (55900 DETDoVOE.

Test the convergence X x"(x>0).

T-105180 0. (3n+4)

3.6:9....8n .
7-10-18........(3n +4) "

"(x > 0) oo @B By, @S0t $588ovod.

Or
Examine the continuity for the function f defined by f(x)= |x | + | % - 1|
at x=0,1.
f o Shavom fx)=|x|+|x-1| mageh x = 0,1 58 f G0y, wdaynBR 3630506

Prove that the function f defined on [a,b] is uniformly continuous on [a,b] iff it is
continuous on [a,b].

[a,b] %oyEroBop (SHoaho enayymend [a,b] 3 [ D56 edayyRHBICER ebEE Sovg
DADHHIDN @D DBV,

Wx
elTﬂ if x#0 and f(0)=0 is continuous at x =0 but not
e

Prove that f(x) = x[

derivable at x =0.

1/x

x
flx)= x{e—j x # 0 ©odHpc 20850 £(0) =0 o288 x = 058 ©2RHYBREI,
€+

' @HE0d0HRL SPED VEITTH0NH0G.
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(b)

(i1)

@)

(11)

Using Lagrange’s theorem, show that x > log(l+ x) > 5 i f (x) =log(1l + x)
+Xx :

Vx> 0.

f(x):log(1+x) Vx>0 e00d x>10g(1+x)>1x
+x

BHBoED Byrod ?qu‘;oé;in

0@ RoD BIrH0d.

Or

State and prove the necessary and sufficient condition for the Riemann
integrability.

B55® DHEOHIN Bog), eHEgE DoogH HoDHIBL ($HD0D DETDoBOE.

al4
Evaluate I (sec* x —tan* x) dx.
0

ml4

j (sec* x —tan* x) dx 2endd o208,
0
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Time : Three hours

1 (a)
(b)
2 (a)
(b)
3 (a)
(b)
4 (a)
(b)

(2127)

B.A./B.Sc. DEGREE EXAMINATION, MARCH 2012.
' (Regular)
(Examination at the end of Second Year)

Part II — STATISTICS - II (STATISTICAL METHODS AND INFERENCE)

Maximum : 100 marks

SECTION A — (4 x 20 = 80 marks)
Answer any FOUR questions.
What is a correlation? Explain various types of correlation and its properties.

HIPH020850 T D7 DY BEANe STrSonoginedy S8k T c‘,SU'aEJR’n DHB0HB0.

Discuss about partial correlation and multiple correlation.
De8¥ 080K WTVY FITHDo0EHDVON KJ“G') D5B0HDW.

What is order of class and class frequencies in attributes? Obtain the total number of
class frequencies of all order.

Homdwe ahot) BEXG 1EHod0 JBahy BENS ba’n@;bsz’:w 5 DA? o) dsfde 2wdo &5:@55‘:1»0
DOPgFN DPReRE0.

Discuss the various methods for measuring the association in attributes.

KoEss00 BTSSR evis DDE SGEOD DIESEBBN.

Define Chi-square variate and write its pdf, properties and application of Chi-square
distribution. :

3-0),56 D0or8D DEGDOD, TR JogTHgEe Ao|SE” FRoahdwen, Fogen So8ako ;;somga»em Eras0H0.
Define students t-statistic write its pdf, assumptions and applic;ations of t-distribution.
Apzos t-droagEsndy dYDoPIN. TR Nogrige dode (SRooHSw, SBFeydvey DB
GHciugSnes @EraoB. .

Explain the criteria of a good estimator.

200D BOSTOLH SPIODD (G OEETOR 2580PH.

State Fisher — Neyman factorization theorem. Obtain the sufficient estimator for

u and o® of N(u, o) population.

556 Dars so dorossnd LB, N(i, of) &%dn Sy, p 2ba o’ o Soogd
SOVT GO0 mwe.gan.



10.

11.

(a)

(b)

(a)

(b)

()

(a)

(b)

Explain non-randomized and randomized tests.
afeesyByE 08akn aireedng 50 SB5eRo 9580HH.
State and prove N.P. Lemma.

D55, B3P (550D, DETVOPHHN.

Find the MP level a test for H; : o : 0, against H, : 0 : 0, (#0,) for the normal

distribution with mean zero and variance o°.

Hy:0:0y %38 Hy : 00y (#0p) &0 8050 daressd) 506550500 503 20801 9538 o2
Ko SBER SR SoBw.

For the binomial distribution with parameter n, ; find the MP test for level a for
H, :0 =6, against H, : 8 = 0,(# 7,).

n, 8 S8 Ko 8556 derasy Hy 10 = 0y 9™ H, : 0 = 6,(# 0,) wovme a o
ros” MP 58550 S20R"805%0.

Describe a Chi-square test for goodness of fit by giving the validity conditions.
S0 BrHsHd 3-0),66 050 238K T8 Jeyeren edly AobBIZVE) @ADL,
Discuss the F-test for the equality of two sample variances by stating its assumptions.

B0 (HAETD K)EDZBe) BB F-5855% DHBAT T JBEYHen BevHhdw.

What are the advantages of non-parametric over parametric methods?
Sor2udos Sgdoep ©I380HDH S5oe Hod AR ergrod) 95803HH0.

Explain how a median test is useful to test the difference of location between
populations.

S°5500 D¢ Mo FeDoein 5080BeKd B0¢gHH 8K ) dEBLM SHADSES® D5B0HBIL.

SECTION B — (10 x 2 = 20 marks)
Answer ALL questions.

Scatter diagram.

256 gatri.

Relation between @ and Y .

@ Ho8ain Y 0S5 e HoB0odB.

Standard error.

E0&%50.

Estimation by method of moments.

I IS WO OB,
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13.
'14.
15.
16.
17.

18.

Maximum livelihood estimation.

Kﬂg %vo» 900",

Two types of errors.

Bodh dEane Shaswen.

How a statistical hypothesis in tested?

ReoRgEY SO D DB 3850DESY?

Are large sample tests valid for small sample tests?

a8 (DED 5050, S0 PSS 5850 Deeren iHT.

Paired t-test for the difference of mean.

20EF0BNE BEDVILD t-58%,

Run test.
5 584,

(2127)



(2301)
B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II — BOTANY —II — (ANATOMY, EMBRYOLOGY, TAXONOMY AND MEDICINAL
' ' BOTANY)

Time : Three hours Maximum : 100 marks

Draw labeled diagtams wherever necessary.
SECTION A — (10 x 2 = 20 marks)

Define or explain ALL questions.

1.  Secondary meristem.
Bdash Deresy SeaaPeo. ‘
2. Heart wood and Sap wood.

e.-uoécgéo@ 208050 BT,

3. Perisperm.
X)Béacﬁo.

4, Apomixis.
eDE08R.

B. Hooded Anthers.

SeEKS0ed HoeKE D,

6. Chemotaxonomy.

oo ees aﬁgcsea TRO.

_-4

 Write any two vegetable yielding plants scientific names of Cucurbitaceae.

8y Soronro BoB DPR Dotk Lrraides 33) 20, PO TETER AV,

8. CIMAP.
CIMAP.
9. Any two medicinal uses of Tulasi.

Bood G, JPT° Bo TAGIDeT.

10. Pharmacognosy.

W&S‘I&:).



11.

13.

14.

16.

18.

SECTION B — (4 x 5 = 20 marks)

Answer any FOUR questions.

Parenchyma.

mq)daseaare)o.

Botanical name and economic importance of Neem.

35 R T00 06aK) B PrEwagH.

Types of Ovules.

QoG J5Ten.

Cleavage polyembryony.

DEPH ITVDOLSD.

Floral characters of Annonaceae.

(a)

(b)

(a)

(b)

SECTION C — (4 x 15 = 60 marks)
Answer ALL questions.

Describe anamolous secondary growth in Boerhavia stem.

57008 YA 5P0E0SD ©HoNS BedaHSED 9580508
S A

Or

Write about the botanical aspects and economic importance of Rosewood.

5596 @y, SyEeR eowen 8k e85 (-505B%0 K8y Eraod.
Describe the process of Microsporogenesis.
Ay 2>ga5mmb:>o @bR 25°aeR) 9580508,

Or
Describe different types of endosperms found in Angiosperms.

udBderes® 250D 294 Bsre ©oHES TR 8y 2580308,
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19.

20.

——

R ——

(a)

(b)

(a)

(b)

Give an outline of Bentham and Hooker’s system of classification and the merits and

demerits of this system.

RS> Bk FosBe 5485e SR BOAHHA0S. 2605 o6 [8%o-&'rel 2300508,

Or

Describe the vegetative and floral characters of family Poaceae and its economic

importance.

20502 L6008 THAH 2BAK HYHOLETOR DHB0D T S FDVYFBR BdoHBADOGE.

Write about Aswagandha and Amla.
esgg/f04s $805 DG &RB 178 Eratod.

Or
Describe the methods of evaluation of crude drugs.

A0A Tagrod Halrd) I 298 S8 9580%08.

(2301)



(2306)
B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)

(Examination at the end of Second Year)

Part II — PHYSICS - II (M) (THERMODYNAMICS AND OPTICS)

: Time : Three hours Maximum : 100 marks

1. lad
(b)
2. (a)
(b)
3. (a)

PART A — (2 x 14 = 28 marks)

Answer ALL questions.

Describe the working of a Carnot engine and derive an expression for its efficiency.
Does the efficiency depend upon the working substance?

5o6°) o0 50BD DBV HPoVod BBAH TD Bovk), BEBL HDEGE0 STHBOBOE. SEE SV

:}a‘gm P SrESEB0T?

Or

Explain thermodynamic potentials. Derive Maxwell thermodynamic relations using
thermodynamic potentials.

GBS F570k0 80 9580%0d. HedD &353R0 :spgoae‘s‘ &ANBE Sowogrey &o)Bobod.
Explain the principle, construction, working and theory of adiabatic demagnetisation to
produce very low temperatures.

99) &A1) F0SEE JEHE DEAH,0bLSRHN Bk, B0, DN, HHDD dFSEN HoBokby
%goééne;&) DHBoBvOk.

. Or
Derive planks law of radiation. Deduce Wein’s law and Rayleigh Jeans law from it.
208 28800 DODITY) GomBOBOA. D) DADLHH DB TO-BS DALHINER FoE DADHBH
&5BR0D &mBoB0E.

PART.B — (2 x 14 = 28 marks)

Answer ALL questions.

Obtain the condition for achromatism when two thin lenses are in contact and they are
separated by a distance.

Boch Jeodd Swsten PHS® &yIpc 2Baw o &780S° DBVALEHHE GSYBHLH B0
orabod.



10.

L1,

12.

13.

(b)

(a)

(b)

Explain the construction and working of Fresnel’s biprism. Explain how the
wavelength of monochromatic light is determined using biprism.

(IS BgoeEin Ehog), DogEss0 S8y 5HD SEAB d3BoB0d. BePyEsn E5ETRod HESYS0d
HSONBTRY Do ELoRCoers® 95680508,

Explain optical activity. Explain how the specific rotatory power of sugar solution is
determined using Laurent’s half shade polarmeter.

($0Hea5e 1F5:008050050 DHBoWOE. €S &egU‘DoSJ (G0DEIVIHEDD GIBIR0D W3),8 (EHea QB0E); DIQ
@550 ReB0TesR) ADEorT ESofCoers® 9580908,

Or
Explain population inversion. Describe the construction and working of He-Ne Laser.

BRGP TEOITEOW 9580508, rdaHo — VTS B By, Doyesdn DBy HOVD dEERHBLR
D5BoBos.

PART C — (3 x 4 = 12 marks)
Answer any THREE questions.

Explain the transport phenomenon.

DHDD Cée)ﬁog‘:xowne)m 1078y dHBowods.

State and explain second law of thermodynamics.

GANSE T3 ol DALHIRY) ABGV0D HoBoLL DHBoWMoE.

Calculate the change in entropy when ice changes into steam.

B00W, DI 3B DIBLHE Joode® S8 B) 0006,

Derive Cp—Cv = R for an ideal gas.

88 FrainHH Cp—Cv = R e d8rdosvod.

Explain the difference among Joule’s expansion, adiabatic expansion and Joule Thomson
expansion. :

&6 a58%50, 5K T5E B0 2BA B - sy TEiTe 26k Brreiy 95601508,

State and explain Bose-Einstein statistics.

SR-DSYS NeToE0OR DD HBoB0E.

PART D — (3 x 4 = 12 marks)
Answer any THREE questions.

Explain the effect of translation.

LB [Dyrddondy d98odod.

What is spherical aberration? Explain any two methods for minimizing the spherical
aberration.

OO DHEHD0 DHTHN? BOD DBV DPFe Botk SEBoen D5BoBOG.

What is Coherence? Explain Temporal coherence and Spatial coherence.

BoREH GIMTIN? SO Sowess BBt (BT Sowogdesy H580Hod.
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14.

15.

16.

L.

18.

19.

20.

21.

22.

Derive the expression for resolving power of grating.

2965 %o ({i3or) B, B8, 56 T8 HRESER0 dBYBOBOE.

Explain Brewster’s law.

@b DAHBEIRY) 25B0BVod.

Explain the types of optical fibres.
EyFHoBHSD E5PoRn JHBoWG.

PART E — (2 x 5 = 10 marks)

Answer any TWO questions.
The coefficient viscosity of Nitrogen at STP is 16.6 x 10-6 poise and density 1.25Kgm~? and
average speed of the molecule = 450ms-!. Find the mean free path of molecule.
STP 58 5 Jfee Hnso 16.6 x 1076 2ond, dros 1.25Kgm= SKensSé 450ms eowd W56
20§00 EROR"90E. :

Calculate the work done when 1 mole of a real gas expands isothermally at 27°C to double its
original volume. R = 8.32J mol-1K-1.

27°C 3¢ 2.8 256 derTraoD SIFHUS (HISAHS” TER0 JoBIHE, TAVY o580 FIDHH Boh
Bey @od B8RS 3D Jod R = 8.32J mol1K-1? :

Calculate the change in boiling point of water when the pressure changes by lem of Hg.
Given L = 2.268 x 108J/kg. Volume of 1Kg of steam is 1.674m3.

Des0S® Bty FeETEN 1 cm @ondS® DY BB oS Hretye B obod. b granD 00
L = 2.268 x 106J/kg 1 & . 563 598 0558550 1.674m3.

A black body at 500°C has a surface area 0.5m? and radiate heat at the rate of 1.02 x 104J/s.
Calculate Stefan’s constant.

0.5m? &38%e Pwege SORD HH 0D 500°C &p® ¢ DensBody d8Geasw Bew 1.02 x 10%)/s eond
Eg@bs ?gcﬁoéﬁnm 88,0508,

PART F — (2 x 5 = 10 marks)
"Answer any TWO questions.

Two thin convex lenses of powers 5 dioptre and 4 dioptre are placed coaxially 10cm apart.
Find the focal length of the combination.

5, 4 ¢&oirgh mehod rTgen o Both Eewseen o8 ©Xo P 10 cm Srdost G0N, T8 BT Sl doog
TYTOBTRY ESOR™908.

Two thin convex lenses separated by a distance have equivalent focal length of 30cm. The
combination satisfies the condition for the elimination of chromatic aberration and minimum
spherical aberration. Find the values of the focal length of the two lenses and the distance

"between them.

EP0th $I°506° DEDADLAED Both DK 055 Keoste SO el Tgggossan 30 em. He HodrKHn @Y,

- FOaH 95g5wre SEBe éoé SBI308. Ho@BIKoS'D ok Keoste 50 Boren, S6I570 Dol IO RTS8,

3 | (2306)



23.

24.

Find the radius of the first zone in a zone plate of focal length 20cm for a light of wavelength
500nm.

500nm 8ol o Mo 52088 Sowofod 20cm ToBB0 YIRS 2.8 &S Hew ), e Sodh Togrso
Q08?

Calculate the specific rotation if the plane of polarization is turned through 26.4° traversing
20cm length of 20% sugar solution.

- 20% 58,8 [mrdean &3y 20cm DD Ko Argdo (e Berd) 26.4° @98, a8 Esdoe LSO JoB?

4 | - (2306)
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(2308)
B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II — Zoology — 11

Paper Il — (CHORDATES, EMBRYOLOGY, ECOLOGY AND ZOOGEOGRAPHY)

Time : Three hours Maximum : 100 marks

(a)

(b).

Answer ALL questions.
Draw neat and labelled diagrams wherever necessary.
SECTION A — (25 marks) '
(PROCHORDATA — AMPHIBIA)

Describe the structure and life history of Herdmania. Add a note on significance of
Retrogressive Metamorphosis. a7

YOOI Doy, H08 HBBR SGooB0. SEHDL B DB B, FBNPBR BeoHiH.

Or
Describe Respiratory system in Frog.

ENS® TG 9P SGoodn.

Write short notes on any ONE of the following. (8)

(a)

(b)

Types of scales in Fishes

General characters of Cyclostomes

1B08 TBS® 2.8 D8 00 [FPaOAN.

(a)
(b)

(a)

(b)

B30° 228 Esre revdoew
RERFIN Jogrdes oDV,

SECTION B — (25 marks)
(REPTILIA - MAMMALIA)

Write an essay on dentition in Mammals. (17)

£56530006° 0B DmgtHN P al TH0800 EEAB.

Or
Give an account of general characters of Reptiles, and classify upto orders.

$BRySEL A OFEIDNER BPHET, ER0D0e S6K S0EB0BID.



=1

Write short notes on any ONE of the following. : (8)

(a)
(b)

Types of feathers in Pigeon

Calotes heart

(808 Te3S° 250708 ©3edY @rofusw.

(a)

(b)

(a)

(b)

DA 0S® HeXe Ssren
&0t Tryesahd.

SECTION C — (25 marks)

(EMBRYOLOGY)

Define Placenta. Describe types of Placenta. Add a note on functions of Placenta. (17)

B3CPOIVRN DYGDO0WIDN. DD ¥ste soroivde HBod IGod0. BSTPAiNY) DO BewHIw.

Or

Describe the arrangement and mode of development of Foetal Membranes and add a

note on their functions.

Freadsoro @088 o8O H8X0°, T ey K809 BewHiaw.
L S VS b

Write short notes on any ONE of the following. (8)

(a)
(b)

Types of Clevages

Spermatogenesis..

(Bo8 T35° 28 T8 o3wedE EratuAw.

(a)

(b)

(a)

(b)

DG G50 STV

REEES ES.
SECTION D — (25 marks)
(ECOLOGY)
Define Biogeochemical cycle. Explain gaseous cycles which you have studied. (17)

B FUPEAADHRE HOCH0 VHTIN? Hoth HBIH Tatudeciresy o8y dYhedwrr 958oHBw.

Or
Write an essay on Mutualism and Parasitism.

OG0 STeSD0 SBao SoryddBo B0 8 ToEEH0 EratuE.
2 (2308)



Write short notes on any ONE of the following.

(a) Commensalism

(b) Population Density.
808 To36° 2.8 T08 O3S EPOIBW.

(a) Rodessge

(b)  earer oSS,

8
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(2312)

B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)

(Examination at the end of Second Year)

Part II — CHEMISTRY — II
(INORGANIC, ORGANIC, PHYSICAL AND GENERAL CHEMISTRY)

Time : Three hours ; Maximum : 100 marks

Answer ALL questions from Section A and EIGHT questions from Section B.
SECTION A — (4 x 15 = 60 marks)
1. (a) Explain the catalytic properties of d-block elements.

d-a;:E Doreste Gidss (o0 DHBOYIV.

(b) How to separate lanthanides by solvent extraction?
@963 D P eroesRbesy Jer Dt Beth?

(¢) How to prepare Cr(Co)y? Explain its structure.
Cr(Co)g %0  e5om HAEDF? D00 JHBOHD.

Or

(d) What is meant by actinide contraction? Compare it with lanthanide contraction.

SRt B0§%%0 edTR? B0 erogH& Ho8 B0’ DraryHw.
(e) Explain the band theory.

56 deroBoo dHBoPI.
() Define and explain EAN rule with example.

(PeDE SEDT"ED DoPg DYGHOD STPTES” DHBoHD0.

2. (a) Write the mechanism and stereo chemistry of Sy1 reaction.
Sy B85 Bk, ST5OEH0 2B @B AsydsoR [rabod.
(b) Write the preparation methods of 1° and 2° alcohols from Grignard reagent.
(RR=B 5755080 &5@BI"R0D 1° BA 2° e FSein Jer BATrErd?
(c) Explain the mechanism of Perkin reaction.
DO}, D5 B, BO°5 G0 DHBOHH.
— Or



(d)

(e)

(09

(a)

(b)

()

(d)

(e)

®

(a)

(b)

(©)

(d)

(e)

()

How to prepare carboxylic acids from nitriles and amides?

3 Beven o6k JpEe H108 57o8HOE esdrresy O dEor HATT Basn?
How to prepare monocarboxylic acid from aceto acetic ester?
DES® DDEE IPB 006 57088 essreRd Jer BafrE) Bao?

Explain the Clemensen reduction.

TDSI® EAHEGE0R DHB0HBW.

Write the application of lead-silver system.

BE-Hogb @), GRHBHOR FOLVHD.

Compare the homogeneous and heterogeneous catalysis with examples.
Serdat 208050 Derda &(f)Be GTrTEnHE® Doy

How to determine the transport number by Hitorff method?
i’J"eJ“Eq) SES ©go° BPHDD SogHy e DYI=?

Or

What is enzyme catalysis? Write the characteristics of enzyme catalysis.

OB GBS0 OITRN? JoBD &@)te S0 @FPaHIB.

How to determine pH by using quinhydrone electrode?
&5 1IE'S Jog 60 &35 Rod PH 5 Jer DonRntir?

Explain the phase diagram of NaCl - H,O system.

‘NaCl-H,0 558 &0, 53 DBOD DHBOHI.

Define axis of symmetry and explain with examples.
¥ APHB DYTDOBOE. HBA STFERE’ DHBoVO.
Explain complexometric titrations with example.
DOBR WOTHTHORY STEEE’ DHBOHH.
Explain accuracy and precision.
PDYBBE0 B0 RSB0 DHBOHH.

Or
Write the retro synthesis of aceto phenone.
STDT'® B, S HoFiEaD Erof0s0.
Explain group transfer reactions.
P05 578)& 5550 D5B0B0G.
Discuss about post precipitation.

B8 ©585e050 K8y BByodHw.

(2312)



10.

11.

12

13.

14.

SECTION B — (8 x 5 = 40 marks)

Explain the tendency of d-block elements to form complex compounds.

d-2r8 Sorresren 851 D03 SRRYTY (H:3)8D EFAIB.

Write the consequences of lanthanide contraction.

erogRE H08%H0 B, SEHIFOR [FPe0B.

Explain the structure of Ni(Co), .

Ni(Co), @Bws), RDOREIOR) DHBOYHH.

What is pinacol? Explain pinacol-pinacolone rearrangement.

25855 esrdrrH D07 HIEIE-BHES S 55E20BED 2560HD0.

Give the mechanism of hydrolysis of esters in acid medium.

esx) O3RH50S” Jgbe e IR Hog DETHOK Begydwo.

How to prepare malonicester from acetic acid?

P38 €500 0 DEE IPER Jer Bk DH?

Explain the terms in phase rule.

[Py DA D088 e DHBoHHN.

Explain conductometric titrations.

TPE @0EATTHTTeM DH5809)H0.

Explain the reversible electrodes with one example.

28 GIPIrEnE” 858 IS5 G0 9580YD0.

Define the terms with examples :

(a) Synthetic equivalent.
éo‘éaﬁ Boogdw.
(b) Functional group inter conversion.

(FR000 DB @oBs SBHEH0.

(2312)
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B.Sc. (Regular) DEGREE EXAMINATION,

MARCH 2012.

(Examination at the end of Second Year)

Part IT — COMPUTER SCIENCE — II (OPP WITH

JAVA AND DATA STRUCTURES)

Time : Three hours Maximum : 100 marks

1. (a)

(b)
(c)
(d)

(e)
®
(8)
(h)

SECTION A — (10 x 2 = 20 marks)

Answer ALL questions.

How Java is strongly associated with the

- Internet?

What is the use of import statement?
What is web browser?

Write any two differences between entry
controlled loop and exit controlled loop.

What is an Abstract method?

Write any four string methods.

What is a light weighted thread?
What is the use of Finally statement?



@

)

(b)

©)

(d)

(b)

(©

(d)

Write any two differences between Arrays
and Linked lists.

Define a Graph?
SECTION B — (5 x 16 = 80 marks)
Answer ALL questions.

Explain the features of Java language.
What are the differences between Java and
C++?

. Or

Describe various constants used in Java
language.

What is Variable? Explain classification of
Java variables.

Briefly explain about operators available in

Java.
Write a Java program to check the given
number is Armstrong or not.

Or

What is a class? Explain how to access class
member functions.

Explain the concept of Overriding with an
example.

5 (2313)

(a)

(b)

(c)

(d)
(a)

(b)

(c)

(d)

(a)
(b)

()

(d)

Explain how interfaces are implemented in
Java.

What is an Array? Write a short note on
types of arrays in Java.

Or

What is Package? How to add a class to a
package?

How Multiple inheritance achieved in Java?

What is a Thread? How to create threads in
Java?

- What is the use of Synchronization? Explain.

Or

Explain the Applet life cycle with a neat
diagram.

Explain about various sections of a Web
page.
Write a Java program for Bubble Sort.

Explain different types of Queues.
Or

What is a Tree? Explain various Tree
Traversals with example.

Explain Topological sort with example.

3 (2313)



(2319) PART B — (4 x 15 = 60 marks)
Answer ALL questions.
B.Sc. DEGREE EXAMINATION, MARCH 2012. 9. (a) Discuss in detail about nutritional
_ requirements and mechanism of nutrient
(Regular) ' : uptake by microorganisms.
(Examination at the end of Second Year) i

(b) Define Microbial growth and write about
Part IT - MICROBIOLOGY —1II various techniques used for measuring

microbial growth.

MICROBIAL PHYSIOLOGY AND GENETICS
10. (a) Discuss in detail about TCA cycle.

Time : Three hours Maximum : 100 marks o
PART A — (8 x 5 = 40 marks) i
Aniowiar ALL quéstions. (b) Write about Lactic acid fermentation.
1 El t DNA d i
1.  Methylotrophs. . (@ m:‘f}fgﬁi:m_on damége o
2.  Continuous culture. . ' Or

(b) Write in detail about Semi conservative
-mechanism of DNA replication.

4. Glycolysis. 12. (a) Give an outline of Gene cloning methods.

3.  Photosynthetic pigments in Bacteria.

. Transformation. : J Or

(b) Give a general account of application of
Genetic Engineering in Industrial and
agriculture.

6.  Restriction enzymes.

o Structure of DNA.

8. Functions of tRNA.

2 (2319)



12.

13.
14,

15.

16.
17.

18.

19.

20.

In frequency modulation ,the signal is given by
e, =15c0s1000 [Tt and the carrier

eo =15c0s 1000sin2x10° [Tt. - The coefficient of
modulation K;=60,000. Find out the frequency

~deviation, modulation index and the deviation.

PART C — (4 x 6 = 24 marks)
Answer any FOUR questions.
Each question carries 6 marks.

Describe the working of a [] section filter.

Explain the frequency response of a RC coupled
amplifier.

Draw the block diagram of op-amp with different
stages.

Discuss the working of op-amp voltage follower.

Describe the working of op-amp Summing
amplifier.

Explain the concept of inverting and non inverting
amplifier.

Explain the generation of FM waves by varactor
diode.

Explain the working of superhetrodyne receiver.

4 (2322)

- (2322)
B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II - ELECTRONICS - IT (ANALOG CIRCUITS
AND COMMUNICATIONS)

Time : Three hours : Maximum : 100 marks
PART A — (4 x 14 = 56 marks)
Answer ALL questions.
Each question carries 14 marks.

1. (a) Derive expressions for d.c or average value of
current R.M.S value of current and average

voltage across the load for half wave
rectifier.

Or

(b) Draw the circuit of a choke input filter and
explain its operation. Deduce expression for
critical inductance. What it the function of
bleeder resistor.

2. (a) Explain how negative feed back in an
amplifier helps in reducing the noise.

Discuss the effect of negative feed back on :
(i)  inputimpendance and
(i) output impendance.

Or



(b)
S (a)
(b)
4. (a)

(b)

Mention the Characteristics of an ideal
op-amp. Explain the concept of virtual
ground in op-amp Draw the circuit of an op-
amp inverting amplifier and explain its
action.

Explain the working of op-amp as
(i) Comparator

(i1) Differentiator

(iii) Integrator.

Or

Draw the circuit diagram of op-amp free
running multivibrator and discuss Its
operation with the help of revelent wave
forms.

What is modulation? Explain the need for
modulation. Describe with suitable wave
forms that working of an amplitude
modulator.

Or

With the help of a block diagram describe the
process of broadcasting and reception clearly

brining out the functional aspect of each
block. ‘

73 (2322)

10.

U 8

PART B — (4 x 5 = 20 marks)

Answer any FOUR questions.

Each question carries 5 marks.

A full wave rectifier uses a centre — tapped
transformer. The a.c voltage from its centre tap to
either end is 10 sin3l4t. The load resistance of the
circuit is 40 ohms and diode resistance 10 ohms,
Find I, and I, ., ripple factor and rectifier
efficiency.

State the merites and demerits of negative feed
back in amplifier,

What are the different characteristics of an deal
operational amplifier?

Explain monostable multivibrator.

In an op-amp used as differentiator R =2MQ and
C=1u F. If a signal Vi=2 sin1000[1t (mV) is
used as input voltage, Calculate the output

voltage. -

What are the differences between AM and FM.

Explain different type of modulations with relative
Comparisons.

3 (2322)
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B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II — Computer Maintenance — II
DIGITAL ELECTRONICS AND NETWORKING
Time : Three hours Maximum : 100 marks
Answer any THREE out of Five question from Part A

and FIVE out of Seven Questions from Part B and
ALL questions from Part C.

PART A — (3 x 20 = 60 marks)

1. (a) Describe various Number Systems.

(b) Explain NAND, XOR gates with logical

circuits and truth tables.

2. (a) What is Flip—Flop? Explain types of
flip-flops.

(b) Explain applications of counters.



3. = (a) Explain Asynchronous Communications. : 10. Explain the working of any one types of D/A

converter.
(b) What is the role of mother board in personal _
computer? : 11. What is World Wide Web? Explain.
4, (a) Explain PC organization with the help of 12.  Write a short note on File Transfer Protocol.
block diagram. '

PART C — (5 x 2 = 10 marks)

(b) Write about Half — Duplex transmission.
: 13. What is the use of Ripple Counter?

5. (a) Explain about Bridges & Routers.
14. What is Ethernet?

(b) Explain about TCP/IP in Client Server Model
' 15. What is the use of BIOS in computer?

16. What is the Utility of K-Map?

PART B — (5 x 6 = 30 marks)
17. What is the use f Internet?

6. Find the binary equivalent of the following :

(1)  (43)y
(ii)  (36)y,
(iii)  (200)y, .
7.  Write a short note on ECL Logic.

- 8. Explain the operation of Multiplexer.

9. Explain the concept of Serial and Parallel shift
registers.

2 : (2324) 3 | (2324)



(2325)
B.Sc. DEGEEE EXAMINATION, MARCH 2012.
(Regular)
(Egaminal_;ion at the end of Second Year)
. Part II — BIO-CHEMISTRY - II
(METABOLISM AND BIBCHEMICAL TECHNIQUES)
Time : Three hours Maximum : 100 marks -

PART A — (8 x 5 = 40 marks)
Answer ALL questibna.
Each question carries 5 marks.
Write short notes on :

1.  Substrate level phosphorylation.
SERES 56 3amBBRS.

Structure of ATPase.
23DDE RoYEIIN DIBOHRW.

no

3.  Calvin eycle.
- 5o8® P8BS,



Synthesis of Triglycerol. 10.

[BRITSY DoEDD @raf0H0.
Glycogenic and Ketogenic amino acids.
Qgsasx)g So8at0 §65%308 edbS en&) K178y Eraudw.

Leach-Nyhan Syndrome.
$S5-2T0 VolE’ KB HBOHHW.

Thiﬁ layer chromatography. 5
BSBDE [§%0e5 KD B0 EratIB.
Radio Isotopes and their uses.
BEBroesTyy Bon T @k,  aborded)
Fe0s00.
PART B — (4 x 15 =60 marks)
Answer FOUR questions. 19

Each question carries 15 marks.

(a) What is free energy? Describe about
Exergonic and Endorgonic reactions.

&2 %8 eITRI? o)gfaq:fog 28050 Jowogag
:56§0 K809 2580000.

Or

(b) What is oxidative phosphorylation and
describe Mitchells Chemiosmatic theory.

GBES5 PmBBES woB Sd? 2HE
Eamese3E B8 /80D Erausw.
2 | (2325)

(a)

(b)

(a)

(b)

(a)

(b)

Explain about Citric acid cycle.
DIE3E D& P8S KrBod 2HBoWIHD.

Or
Describe synthesis of Cholesterol.
§BRES 0GR 180D Erokodwn.
Explain about metabolism of Glycine.
RS Doeerdesd @raon.

Or

Describe the metabolism of Pyrimidine
nucleotides.

DEMWES HSTATRE ook, dogHR SoBas
DAYYHD KB0d ek,

Write the principle, procedure and

applications for Affinity chromatography.
208§D By,  BRYdS, apedo
S08050 eT85S) 580D,

Or
Describe about SDS-PAGE.
R.8.000 9B K80 EralHw.

3 (2325)
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B.Sc. DEGREE EXAMINATION, MARCH 2012.
(Regular)
(Examination at the end of Second Year)

Part II - BIO TECHNOLOGY - II (BIOLOGICAL
CHEMISTRY AND MICROBIOLOGY)

Time : Three hours Maximum : 100 marks
SECTION A — (5 x 8 = 40 marks)

Write short note on any FIVE of the following.

1.  Hyaluronic acid.

2.  Factors influencing Enzymatic reaction. '
3.  Gluconeogenesis.
4. HIV.

5.  Bacterial Reproduction.
6. Electron Microscope.
7. Dialysis.

8. Transamination.



10.

- 5 b

(a)

(b)

(a)

(a)

(b)

SECTION B — (4 x 15 = 60 marks)
Answer ALL questions.

Explain the Primary, Secondary, tertiary
and Quaternary structure of proteins.

: Or

Define Enzyme. Briefly discuss various types
of Enzyme inhibitions.

What is photosynthesis? Expléin briefly light
and dark reactions of photosynthesis.

Or

Give an account on TCA cycle. Add a note on
energetic of citric acid cycle.

Describe the general characters of virus,
bacteria, fungi and micro algae.

Or

Define sterilization? Explain physical and
chemical methods of sterilization.

2 (2327)

12.

(a)

(b)

Define Beer lamberts law & explain UV-VIS
gpectrophotometer.

Or

Give an account on Radio isotopes and their
uses in biology.

3 (2327)




